Support Materials


Intermediate 2

Unit 4 Revision

Calculations in a Social Context 

1.
Penny Law’s pay slip is shown below.
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(a) 
Use Penny’s Gross Pay and Net Pay to calculate her Total Deductions.

   
(b) 
Use your answer to (a) to find what Penny had paid towards her pension.

2.
Mr Dally sells high-powered motor bikes. He is paid £140 per week basic, plus 4% of

his sales. In a fortnight he sells four bikes for £3800, £4700, £2100 and £8500.
(a) 
How much commission did he earn?

(b) 
Would he have been better off if he had been paid £510 per week for the fortnight,

with no commission?
3. 
Sally sells double glazing and is paid commission on all sales. One week she sold

£21 320 worth of double glazing and earned £426·40.

What is her rate of commission?
4.
Use the following information to answer the questions below.

Personal Allowance £3800

Married Couple’s Allowance £1800

   Rate of Tax:

Lower Rate   20% on the first to £4 000

Basic Rate    25% on the next £26 000

Higher Rate  40% on the rest
(a)
Connie Booth is a school cleaner who earns £70 per week. She claims personal

allowance.

How much tax does she pay per year?
(b)
Davie Robertson is a junior bank clerk, earning £9430 per year. He is married.

Calculate Davie’s:

(i) 
total allowances 
(ii) 
taxable income 
(iii) 
tax bill for the year.

(c) 
Miss Helen Bryres works in a doctor’s surgery. 
She gets an annual salary of £10 800, and claims only for personal allowance.

Calculate Helen’s:

(i) 
taxable income 
(ii) 
tax bill for the year 


(iii) 
annual salary without tax.
5. 



       THE ROYAL BANK OF SCOTIA

Customer Loan Repayment Tables
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(a)
The Hendry family borrowed £3000 (without Loanguard) from the Scotia Bank 
over a period of 36 months.

(i) 
What was their monthly repayment?

(ii)
What was the total amount that they had to repay over the 36 months?

(iii) 
What was the extra cost of the loan to the Hendry family?
(b) 
The Hendersons also borrowed £3000 from the Scotia Bank over a period of 36 months, but they took the loan with Loanguard.

(i) 
What was their monthly repayment?

(ii) 
What was the total amount that they had to repay over the 36 months?

(iii) 
What was the cost of the loan to the Hendersons?

(iv) 
How much more did this method of payment cost the Hendersons, compared with the Hendry family?

Logic Diagrams
1.
Which of the following six diagrams are traversable.

For those which are, state whether you can start at any node, or if not, say which node

you must start at.

Explain why the others are not traversable.
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A baker’s van leaves its depot in Coolridge

and has to make deliveries to Duckworth, 

Edfu and Fordbank.
(a) 
Draw the tree diagram to show all the

possibilities.
(b) 
Which is the most efficient? (shortest!)
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3. 

4.
The following table contains information about four people’s electricity bills.
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This spreadsheet is used to enter the above data.
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(a)
For Mr. Green write down the cell and formulae used to: -
(i) 
find the units used by subtracting ‘past reading’ from ‘present reading’.

(ii) 
find the cost of units by multiplying units used by ‘6·25 pence’ and changing

the answer to £’s.

(iii) 
add on a standing charge to each bill of ‘£13·55’.

(iv) 
calculate and add on VAT of 8%.

(b)
Complete row 3 for Mr. Green.

Formulae
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1.
The cost of hiring a floor sander from ‘Hire It All’

is detailed in their newspaper advertisement.

Use the details given to calculate the cost of hiring

the sander for five days.
2.
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Shown is a square plate with four smaller identical

square holes stamped out of it.

The area (in cm2) of the plate is given by

A = a2 – 4b2
Calculate the shaded area of the plate

when a = 12 cm and b = 2 cm.
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3.
The approximate length (C cm) of leather belt needed 
to connect two pulleys is given by:

C = 2L + 13/8(D + d)

where D = the diameter of the large wheel,

d = the diameter of the small wheel

    and L = the distance between the centres of the wheels.

(a) 
Calculate the length of the leather belt required 
when D = 30cm, d = 18 cm and L = 80 cm.

(b) 
Given that D = 22 cm, d = 10 cm and C = 100 cm, set up an equation and solve it to calculate the distance, L, between the centres of the wheels.
4.
In this question, g = –3, h = 5, k = –1 and l = 0.

Find:
(a) 
hg 


(b) 
2h – 4g

(c) 
g2
(d) 
4gk


(e) 
1/2(h – g) 

(f) 
5klh

5.
Change the subject in each of the following formulae to the letter given in brackets.

(a) 
A = lb

 (to l) 


(b) 
P = 20 + 2x 

(to x)

(c) 
C = a + 5b
 (to b) 


(d) 
v = 16 + 10t 

(to t)

(e) 
V = lbh
 (to h) 


(f) 
A = r2 

(to r)

(g) 
A = 1/2bh 
(to h) 


(h) 
T = 4n – 1 

(to n)
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1.
(a) 
Copy the frequency table.
(b) 
Add on the final two columns needed 

to calculate the mean.

(c) 
Calculate the mean from the table.

2.
Thirty pupils took part in a maths competition.

The frequency table shows their scores.

(a) 
Copy the table and complete a Cumulative

Frequency column.

(b) 
Draw a cumulative frequency diagram (ogive).

(c) 
From your graph, determine the median,

quartiles and semi-interquartile range. 

3.
(a) 
Write down the modal class interval.

(b)
Use an appropriate diagram to 

estimate the mode.












This flowchart shows how the


supermarket chain SAFEDA works out


the hourly rate of its part-time workers.





(a) 	What would the hourly rate be for:


(i) 	Bob who is 16


(ii) 	Jenny who is 19


(iii) 	Ted who is 24?





(b) 	George is 20 years old and worked


12 hours for SAFEDA last week.


What should his pay be?








